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Losung des Integrals durch Berechnung von (3x + 2)* und anschlieRender Integration!!!

S(Bx+2)%.dx = [(27x3 + 54x2 + 36x + 8) . dx

27 4 54 36 8
= —.X +—.x3+7.x2+z.x+c =

4 3
1 21 21 9 192
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= E.(81.x“+216.x3+216.x2+96.x+16):
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* GRUNDINTEGRALE

X" dx = — . x™+ ¢ f4.3. dx = —=— X+ c=2 x*+c=x'+c
n+1 3+1 4

— f(x):y=x+2cC
Jdx =f1.dx = x+c j4=4'Tx+c=4.x+c

— f(x):y=4.x+C
f0.dx =¢ f(x):y=c¢ — 1. Ableitung:y =0
F2odx=Injx|+c — f(x):y=In|x; — 1. Ableitung:y = -
Jcosx.dx = sinx+c f(x): y=sinx; — 1. Ableitung: y' = + cos x
J[sinx.dx=-cosx+c f(x):y=cosx; — 1. Ableitung: y' = -sinx

fef.dx = e +c¢
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fa*. dx

JInx.dx = x.Inx—-x+c
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